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Name: __________________________________



1
If [image: image1.png]fx)=2" -1



 and [image: image2.png]


, determine the value of [image: image3.png](fe 2)(3)



.

2
If [image: image4.png]


 and [image: image5.png]


, find [image: image6.png]


.

3
If [image: image7.png]


 and [image: image8.png]g(x) = 2x° + 14



, determine the value of [image: image9.png](fe g)(5)



.

4
If [image: image10.png]


 and [image: image11.png]a(x)=2x+73



, find [image: image12.png]


.

5
If [image: image13.png]


 and [image: image14.png]


, find [image: image15.png](feg)(2)



.

6
If [image: image16.png]


 and [image: image17.png]gix)=3x+1



, what is the value of [image: image18.png]


?

7
If [image: image19.png]fix)=x-3



 and [image: image20.png]


, what is the value of [image: image21.png](fe2)(2)



?

8
If [image: image22.png]f(x) = 5x-2



 and [image: image23.png]


, evaluate [image: image24.png](fe )(-8)



.

9
If [image: image25.png]f(z) = x°*



 and [image: image26.png]gx)=x+1



, what is [image: image27.png](fe2)(2)



?

10
If [image: image28.png]fix)=x-2



 and [image: image29.png]


, find [image: image30.png]


.

11
If [image: image31.png]f(z) = x°*



 and [image: image32.png]


, find [image: image33.png](feg)4)



.

12
If [image: image34.png]


 and [image: image35.png]gx)=x+1



, evaluate [image: image36.png](fe g)(0)



.

13
If [image: image37.png]


 and [image: image38.png]o(x)=x"+1



, find [image: image39.png](fe 2)(3)



.

14
If [image: image40.png]fix)=2x-5



 and [image: image41.png]a(x) = fx



, evaluate [image: image42.png]


.

15
If [image: image43.png]


 and [image: image44.png]


, find [image: image45.png](fe2)(2)



.

16
If [image: image46.png]


 and [image: image47.png]


, find [image: image48.png]


.

17
If [image: image49.png]f(x) = é



 and [image: image50.png]


, find [image: image51.png]


.

18
If [image: image52.png]


 and [image: image53.png]a(x)=x+4



, find [image: image54.png](fe g)(—6)



.

19
If [image: image55.png]


 and [image: image56.png]


, find the value of [image: image57.png](fe g)(=3)



.

20
If [image: image58.png]f(x)=x° - 6



 and [image: image59.png]


, determine the value of [image: image60.png](g= D=3



.

21
A certain drug raises a patient's heart rate, [image: image61.png]


, in beats per minute, according to the function [image: image62.png]hiz) =70+ 0.2x



, where x is the bloodstream drug level, in milligrams.  The level of the drug in the patient's bloodstream is a function of time, t, in hours, according to the formula [image: image63.png]a(f) = 300(0.8)°



.  Find the value of [image: image64.png]


, the patient's heart rate in beats per minute, to the nearest whole number.

22
If [image: image65.png]


 and [image: image66.png]a(x)=2x+12



, find

a [image: image67.png]a7 (x)



, the inverse of [image: image68.png]a(x)



.

b [image: image69.png](Fog™)(2)



.

23
Given: [image: image70.png]f(z) = x°*



 and [image: image71.png]



a The inverse of g is a function, but the inverse of f is not a function.  Explain why this statement is true.



b Find [image: image72.png]PR (E)



 to the nearest tenth.


1
ANS:


255.  [image: image73.png]g®=3-1
-8

s@®=2-1
=255




REF:
060322b

2
ANS:


11.  [image: image74.png](=57 -1=4
g =34 -1
=11



.
REF:
010621b

3
ANS:


6.  [image: image75.png]g(x) =22 +14
8(5)=2(57 +14 =64
£(x) = log, x
£(64) =log,64=6




REF:
060725b

4
ANS:


5.  [image: image76.png]


.  [image: image77.png]f(-D=(-1F +4=5



.
REF:
060921b

5
ANS:


10
REF:
011021b

6
ANS:


13
REF:
069608siii

7
ANS:


1
REF:
019710siii

8
ANS:


[image: image78.png]-12




REF:
069715siii

9
ANS:


9
REF:
089709siii

10
ANS:


7
REF:
089802siii

11
ANS:


49
REF:
089907siii

12
ANS:


1
REF:
010106siii

13
ANS:


24
REF:
060105siii

14
ANS:


7
REF:
080105siii

15
ANS:


3
REF:
010211siii

16
ANS:


25
REF:
060207siii

17
ANS:


3
REF:
080208siii

18
ANS:


[image: image79.png]



REF:
010311siii

19
ANS:


14
REF:
060305siii

20
ANS:


7.  [image: image80.png]f(-3) = (-3)% -



.  [image: image81.png]a(x)

22
1

7



.
REF:
061135a2

21
ANS:


95.  [image: image82.png]g4

00(0.8)*

22.88



.  [image: image83.png]h(1228)=T0+0.2(122.8) =94 576 % 95




REF:
060526b

22
ANS:


a [image: image84.png]


 

b 1
REF:
089340siii

23
ANS:


[image: image85.png]g =y=2"

w=x=2

logx =log2”
Iogx = ylog2

Iogx

7= fogg Whichis a fncton because

for every value of x, there is a unique y.



[image: image86.png])
) =x=y"
y=£~fx, whichis not a function because for

every value of x, there is not a unigue y.



.  [image: image87.png]RO —NZZ




REF:
010332b


